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Section : General (English & Hindi)

Q.1 Select the most appropriate phrase that can substitute the underlined words in the given sentence.

This building is being demolished so that a five-star hotel can be built here.

Ans 3 1. pulled through
/< 2. pulled up
« 3 pulled down
/< 4. pulled in

Question ID : 5096476842
Status : Answered
Chosen Option : 3

Q2 gelect the option that expresses the given sentence in reported speech.

Munna asked me, “When will you visit us again?”
Ans o 1. Munna enquired of me when I would visit them again.
/< 2. Munna enquired of me when I will visit them again.
/< 3. Munna enquired of me when he would visit us again.

75 4 Munna enquired of me when will you visit us again.

Question ID : 5096476838
Status : Answered
Chosen Option : 4

@3 Select the most appropriate synonym of the given word.

SUFFICIENT
Ans 1. meager

& 2. excess

« 3 adequate
/< 4. scanty

Question ID : 5096476839
Status : Answered
Chosen Option : 3
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Q.4

Ans

Choose the correct sentence from the options given.
« 1. The volume comprises twenty papers.
/< 2. The volume is comprises of twenty papers.
/< 3. The volume consists twenty papers.

7% 4. The volume comprises of twenty papers.

Question ID : 5096476824
Status : Answered
Chosen Option : 3

@5 Fill in the blank with the correct option.

Ans

All primitive societies of trade.

/< 1. need organisation
« 2. need organised forms
/< 3. organisational forms

< 4 need forms

Question ID : 5096476825
Status : Answered
Chosen Option : 2

Q6 Select the most appropriate meaning of the underlined idiom.

Recently. he has been giving airs to himself. I don’t know. why.

Ans 3 1. feeling very happy
« 2. behaving arrogantly
/< 3. not feeling well
/< 4. needing change of climate
Question ID : 5096476840
Status : Answered
Chosen Option : 2
Q7 Choose the correct option to complete the sentence:
Mani was found fighting desperately her life.
Ans x 1. to
v 2. for
X 3 with
x 4. on
Question ID : 5096476833
Status : Answered
Chosen Option : 2
@8 Choose the word which is least like the other words in the group.
Ans

/< 1. Ruby
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/< 2. Jasper
/< 3. Sapphire
v 4 Marble

Question ID : 5096476834
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

They wanted to know I was still prepared to work on the project.
Ans X 1. asif
< 2 evenif
v 3 if
#< 4. that

Question ID : 5096476836
Status : Answered
Chosen Option : 4

Q.10 Fill in the blank with the correct option.

The new jobs that a result of governmental incentives to large co-operations.

Ans 5 1. are being created come

/< 2. were created to come

/< 3. are created to come as
o 4 are being created come as

Question ID : 5096476828
Status : Answered
Chosen Option : 4

Q11 Fill in the blank with the correct option.

While I was crossing the street.  killed me.
Ans 1. a sport-utility vehicle
/< 2. a sport vehicle-utility almost
« 3. asport-utility vehicle almost
/< 4. a sport-utility vehicle mostly

Question ID : 5096476827
Status : Answered
Chosen Option : 1

@12 Fill in the blank with the correct option.

The number of adults has inereased from 1998 to 1999,

Ans 1. yiolence criminal involve

« 2. violent crimes involving

X 3. crimes invoalve
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/< 4 vipolence crime involve

Question ID : 5096476826
Status : Answered
Chosen Option : 4

Q13 Fill in the blanks with the right option:

We are not to the idea of moving to Mumbai.
Ans  of 1 averse

< 2. aversion

< 3. adverse

< 4 advise

Question ID : 5096476835
Status : Answered
Chosen Option : 3

Q14 Fill in the blank with the right option:

All great thinkers liveand  a high plane of thought.
Ans X 1. move at
« 2. move on
< 3. move with

/< 4. move by

Question ID : 5096476831
Status : Answered
Chosen Option : 2

Q15 Select the most appropriate option to fill in the blank.

Colonel Sharmahasa  haveli in his village in Rajasthan.
Ans < 1. large stone red
/< 2. red stone large
/< 3. red large stone
W 4 large red stone

Question ID : 5096476837
Status : Answered
Chosen Option : 4

Q.16 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
A. the willingness and ability of the police
B. in their most
C. Sunday’s operation also established

D. remote and safest havens
E. to strike at the Maoists

Ans X' 1. CDABE
< 2. CEDBA
v 3 CAEBD
< 4 CBEDA



https://aview.in/
https://aview.in/category/previous-papers/

Question ID : 5096476841
Status : Answered
Chosen Option : 1

Q17 Choose the correct sentence from the options given.

Ans 1. In corner of room stand wooden large cupboard.

« 2. In a corner of the room stood a large wooden cupboard.
&3

In a corner of the room standing a large cupboard of wood.

/< 4. In a corner of the room stood a wooden large cupboard.

Question ID : 5096476823
Status : Answered
Chosen Option : 2

Q18 Fill in the blank with the correct option.

He move the bags himself.

Ans o 1. has to
#< 2 has
#< 3. have to
#< 4. had been to

Question ID : 5096476832
Status : Answered
Chosen Option : 1

Q.19 Fill in the blank with the most appropriate option.

Paradoxically, the very admonitions intended to reform the prodigal served only to______ his wicked ways.
Ans  of 1. reinforce

/< 2. distress him about
7< 3. turn him from

75 4. transform

Question ID : 5096476830
Status : Answered
Chosen Option : 3

Q.20 Fill in the blank with the most appropriate option.

A born trickster, he was as inclined to as an embezzler is inclined to fraud.

Ans % 1. ingenuousness

/< 2. bravado
/< 3. candor
« 4 chicanery

Question ID : 5096476829
Status : Answered
Chosen Option : 3

Q.21
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Rt & A o 9 F gar i
Ans ?(13;'UT'\':IT-€|'

X 2 gor g

v ER R

X4 gfx ofey

Question ID : 50964768438
Status : Answered
Chosen Option : 3

Q.22 ﬂ FO' . NG %_,7

Ans x1_ ﬁl’-EIT
X 2 I

3 3

=

X 4 FEeaT

Question ID : 5096476843
Status : Answered
Chosen Option : 3

OB oy & eTrw = IO TEFWT F W vF aeg FE
Ans x,]m

v 2 anfEae

X s aremfoRs

X+ e

Question ID : 5096476856
Status : Answered
Chosen Option : 2

O A FH e T @ E T F wE & e §
Ans X1 X FEe

ER o

X 5. SgaEe

X 4 gfaEE

Question ID : 5096476851
Status : Answered
Chosen Option : 3

Q.25

‘TeTeh SUHT T Tahesh SEAT IFAT F BT UF o B
Ans x1w

V> RSy
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X 3 m@aa e
<4 T e

Question ID : 5096476847
Status : Answered

Chosen Option : 1

G yfagfr @ fAew
Ans X1 TR

X Eee

v 5 HAge

X4 gfee

Question ID : 5096476858
Status : Answered
Chosen Option : 2

Q27 Ryr St Y AR G o o AT F AR g w3 F wgw v
Ans X 1. graTeT faEr

X 2 el &1 ar

X3 Ty

v i iema

Question ID : 5096476844
Status : Answered
Chosen Option : 4

% Mo FET FEGI F T G HFFR &7
A o 1. w9 SR
X 2 99y IR
K3 3R 3R

X 4 IUAT HeFT

Question ID : 5096476861
Status : Answered
Chosen Option : 4

Q'ZQﬂBﬁﬁi‘ra;rmﬁag%f
A e E S A

X 2 Frelr AR B

X3 el Rt

X 4 e & B S

Question ID : 5096476849



https://aview.in/
https://aview.in/category/previous-papers/

Status : Answered
Chosen Option : 3

O Fufeer @ gfesr v Rl
Ans X 1. grodT

X 2 T W

< 3. aaET

v aaEdr

Question ID : 5096476852
Status : Answered
Chosen Option : 4

! IFER THT Ave W T F v s geEw @

Ans

X1 3T R gETSAl 35T
v 2 T AR

X3 2@ ¥ ARG T e
X4 gy B

Question ID : 5096476860
Status : Answered
Chosen Option : 3

a2 TRt gieeeT & Fia & I77 3= &
Ans (133?-3?1@'
X2 gaw - afF
X 3 OTEE - IS
K 4 FraeE - Ffger

Question ID : 5096476862
Status : Answered
Chosen Option : 1

Q33 =m=3ﬂ¢‘ﬁﬁraﬁ$ﬁ?@gﬂﬁ@ﬁmaﬁﬁ:

Ans xm o ﬁ
<2 ud
o s HAT

A4 g

Question ID : 5096476845
Status : Answered
Chosen Option : 3

Q34 et 3 Oor aer g 3T AT ¥1 A F A ores o A g gam 2
Ans ?(1- agl_'r aﬁ
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< 2 e
W 5 ETROT
X4 e

Question ID : 5096476854
Status : Answered
Chosen Option : 3

O g aviT o BT ST @ Ty & BT U g @
Ans x,]a_uﬁm

X 2 s

Vo st

X4 I

Question ID : 5096476857
Status : Answered
Chosen Option : 3

&% ary erew F agEEs (Rwfea ) e
o Egs

Ko g

v WY

X e g

Question ID : 5096476850
Status : Answered
Chosen Option : 3

7 are AR gule A9 F B wgEa @ T ae ¥

Ans x1. oUeT
v o oad

< 3 s
X4 HE T

Question ID : 5096476855
Status : Answered
Chosen Option : 3

¥ faehm g WA W TE T
Ans x1-3-1'lﬂ'ﬁ-ﬁ?ﬂ

v 2 g - Ty
< 3. eyoT - TEereyoT
/4 grar - g
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Question ID : 5096476859
Status : Answered
Chosen Option : 1

O yrRy @ TR aeg RET

Ans

X1a;w;:n'u
X 2 PfE
V' R
X 4 3T

Question ID : 5096476853
Status : Answered
Chosen Option : 1

Y g 7 a3 oET @ Iy ¥ BT e e
Ans x13ﬁ@$

X2 HEEeE

& HEOHEAS

X 4 Therdeatang

o

Question ID : 5096476846
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1 qeemgeTAT A Eaw R # @ R gee wEe & Ay & fdr e ¥

Ans .

X1.§TI‘E§;
< 2 SRR

W 3 oME=TET
X 4 HeRaT

Question ID : 5096476874
Status : Answered
Chosen Option : 3

Q2 siNemare #F @ & FEAw Tefeas § ¥ W gew e & 9= & 7 F a9 o
Ans 5 1. Mg HTTH

52 ﬁ%’@%ﬂ%'m
v 5 AT
74 TR

Question ID : 5096476877
Status : Answered
Chosen Option : 4

Q.3
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fr=f@T & & #i9 o1 @ ‘T 79 ¥ gefog 87
Ans X 1. FEdr

v 2 e

X dsfem

FaE v

Question ID : 5096476871
Status : Answered
Chosen Option : 3

Q4  <iwF gedt ¥ A9E G T IR TS T T GSAEE Y # A8 ¥ 6F a8 ¥ ST S1ar 27

A o1 oIEhET
K 2. FHah

x3.$’|a'|a'
X+ A

Question ID : 5096476885
Status : Answered
Chosen Option : 2

Q5 ot @ fhw oA Tow # g S # o B e e s 32
Ans X1 TSEATA

X 2. FgRTSE

PSR-

Ao

Question ID : 5096476888
Status : Answered
Chosen Option : 4

O Ferue FESFESE FT AT AT F4T 87
Ans o | TGS oA

2 G A

< 3 3T FEr

< 4 TTIIUT FH S

Question ID : 5096476886
Status : Answered
Chosen Option : 3

Y rErTER SRR I R T e B
Ans  of 1 QrErT

X 2 Far

X o FrEfgrEge

X+ e
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Question ID : 5096476887
Status : Answered
Chosen Option : 2

Q.8 India has been ranked among 180 countries in the Environmental Performance Index (EPI) 2018.

Ans X 1. 105th
< 2. 180th
< 3 11th
v 4 177th

Question ID : 5096476867
Status : Answered
Chosen Option : 4

Y =T ¥ FT 9RT T TeY 577 69 FEo B2

Ans

X 1. g |ree =T
X 2 gferkRe Eirer
/< 3. FTeirger SieT
v o fee e

Question ID : 5096476890
Status : Answered
Chosen Option : 4

Q10 =73 & S & wAT T, [ed F Twt T A gl B Fed A v Afer @ g ¥

Ans “1m3ﬁmuﬁ
X 2 37eiar =
X3 =rer &&r
K wfger e

Question ID : 5096476864
Status : Answered
Chosen Option : 1

AN Crefefes Rgraer oo Thaert # @ Fi9 BN we & gehE

Ans X 1. 3FAE AR g

X 2 fEAeee =
v o AR Sl

K+ afza RaFaAr e

Question ID : 5096476891
Status : Answered
Chosen Option : 2

G frdr stg ofafy wat e & g

Ans
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X 1 FTerT
X 2 Y
X 3. areforgT

v 4 Fomrhr

Question ID : 5096476876
Status : Answered
Chosen Option : 4

a3 ToiEe Fefie Aeas & T R A # g o4

Ans 1. 2010
7 2 1991
V'3 2003
X 4. 1971

Question ID : 5096476882
Status : Answered
Chosen Option : 1

" are & dfue w1 IO 40 A @ ey weT 22
A o1, s & fr e &Y el o

22 f3rem v AR

v 5 IR J=Ergdt @ EIeA

X4 T F AT

Question ID : 5096476878
Status : Answered
Chosen Option : 2

Q.15 Which of the following nations won the 2007 World Twenty20 cricket tournament?
Ans « 1. India

# 2. Pakistan

< 3. South Africa

< 4 New Zealand

Question ID : 5096476872
Status : Answered
Chosen Option : 1

Q.16 fFr=fafda & ¥ fros oF owor $1 § & 5ae smeg & $ar i gt ofte s gt «w e
(3T o) F Feldr W EHESar fer 32

Ans “1_ Eh?r
X 2 wrg
X 3. ST
X 4 2T ST

[ Question ID : 5096476883
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Status : Answered
Chosen Option : 2

Q17 According to Article 85 of the Constitution of India,  can prorogue
Ans 1. The Vice-President; the Lok Sabha

/< 2. The Prime Minister; the Rajva Sabha

/< 3. The Attorney-General; the Lok Sabha

« 4 The President; the Rajya Sabha

Question ID : 5096476881
Status : Answered
Chosen Option : 2

Q18 Tofafaa § § &g weT &, 21-23 =9 2019 =t VO 9RET ey #a a2
Ans o1 aToTET

X2.l:|a'tﬂ'

X 3 gaAT

X 4 SR

Question ID : 5096476892
Status : Answered
Chosen Option : 1

Q19 freg 7 wad Fr Ot o1& ufFa Tyer @ & @ w2 W g 2
Ans 5y RETT

X 2. fgAT=er 9w

< 3 3eaT v

v i Faew

Question ID : 5096476868
Status : Answered
Chosen Option : 2

Q20 s & SR @ REARRE & ¥ F W et wEE = 3R T PR S ¥ wERe 3
Ans s HJ=oe 78

X 2 =S 86

v 5 HF=SE 39A

X 4+ FI=SE 52

Question ID : 5096476879
Status : Answered
Chosen Option : 4

Q.21 ffefe # ¥ 5w 0=T o a¥ 2018 # amsdor @eit & v e wii|, 3 few (g afE, g
fowre) 7w v A FEEA gF R

Ans xm ﬁgﬂ_
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X 2 HEH
v o afEer
X4 afFwa

Question ID : 5096476870
Status : Answered
Chosen Option : 3

Q22 gy Fr TgelT g T FaT A9 2018 F T ¥ W TUE W F H T M2
Ans xt Enq-i

X2.t|a'l:ﬁ'
{saﬂ?f?
X o a6 frsd

Question ID : 5096476869
Status : Answered
Chosen Option : 3

Q23 s T FEE ¥ PR § § B F TR weela #@ Al & o e
Ans K 1. 1933, Frererar

v 21931, T

231929, =mgly

X+ 1934, =%

Question ID : 5096476875
Status : Answered
Chosen Option : 3

Q.24 Trafafes & & 5w Iowr 7 9Ra 3R w & weT Remw & S e gher s mgde @
TEET & & R W & @y @Asiar A (TAE) W gEaen fRee

e K wndfye s
72 gz ww
v geaEE
X o g frerk

Question ID : 5096476884
Status : Answered
Chosen Option : 1

O e A seEOTE FF T v 32
Ans ?(1'331? *

X 2. FrarFdr
< 3. TeEAT

=
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o 4 HATHIGT

Question ID : 5096476889
Status : Answered
Chosen Option : 1

Q.26 frg &, fwEeT 2017 & yfew e e aois APTT=e sad & &Fa adw e & S

e K e

X2 ot grepeom
X3 oTERTT e
v 4 egaTaT TS

Question ID : 5096476873
Status : Answered
Chosen Option : 4

VT afRT Tyt F ¥ T @ wuw TS 2

Ans x1_

U=TTAT FT Teh WEET, TUTTHNT ! 39T SEAIGT digar g

W 2

FNFHT FT TF TSET, THTHT & 3ePeT HT 39T SEAHT Bioar gl

K3

TSTEAT T Tk ST, HelaAl-SAeAlel P JIaT SEAHT FIIaT 2

r

HEAT FT Uk HSET, HeTeAl-AeAlel Pl 39T SEATHT EITaT 2

Question ID : 5096476880
Status : Answered
Chosen Option : 1

Q.28 fae anfiiw F=r (WEF) gan o[& 1 7% @msay Guan & fw weee det & qoeues o9 @ fow e

T grem?

Ans x " ﬁ+

v 2 TEaEEtets
X3 e
X 4. ArgaT

Question ID : 5096476866
Status : Answered
Chosen Option : 3

Q29 st 7 forw fEior 99 vhrang gur Fr Rrurfer & Al & wdw g R s fr

FFATT & & T Zar Fee & FAE S W HgHET T g2

Ans X1 maifarar
X 2 Faas
X 3 fEemIT

e
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Question ID : 5096476863
Status : Answered
Chosen Option : 3

Q.30 Fr=fafe & ¥ s @ I, BT =T T9es (WHO) EaT 9 & 9 g o, $Ng & 9ger

=eeh RefaT 3w o

Ans x.]mﬂ_
V2 e
X o Jrefem
X4 i

Question ID : 5096476865
Status : Answered
Chosen Option : 2

Section : General Aptitude

Q.1 The difference between compound interest and simple interest on ¥ 20,000 for two years at X% per annum is T 512.

‘What is the value of x ?

Ans X 1. 14%
v 2 16%
X 3 12%
X 4 10%

Question ID : 5096476917
Status : Answered
Chosen Option : 4

Q2 FffEe & @ 50 fFeT & 79 wt = S| e @ 8% 3 R e ¢, BT TR gE e

TEW Teg § TET £
el : AT o weRT
Ans x 1 Eﬁ'—?ﬁ'
X2 fry

X o TEer@eeT ggaT

v o TafhTEe

Question ID : 5096476898
Status : Answered
Chosen Option : 4

Q.3 GeffEE & ¥ 367 [T & 90a &y o 9% 98 ¥ S 387 Y gared ¥, 5 9 9geT 95

ZoY g ¥ T ¥

Az - faw s 2

Ans X1 ZHT
X 2 Fifesensfer
Vs e TR A
<« afgemsiea
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Question ID : 5096476900
Status : Answered
Chosen Option : 3

Q4 fF=faf@a & 30 g8 S8 5607 & el &1 7 Faar &, 5 15, 54, 16 3 12 ¥ Rsnfea &=
T g X 4 AT AT AR 97 FEAT 19 ARy ferew §?

Ans X 1. 15
<214
<3 16
v 13

Question ID : 5096476914
Status : Answered
Chosen Option : 2

Q5 % g BE 4 B g ¥ SUH 16 3HFT F TEGT AT BT

4x10 10x16 16x22

Ans 1

Question ID : 5096476909
Status : Answered
Chosen Option : 2

Q.6 vF =T 3= T = WET gEw, F¥ ged § 60% e SEg W RiEad s §) 9 s
A F 40% REAT 10% Hr oT W, FH F 35% BFEAT 20% #F g 9 K aEr fww % oo
I ST E1 I 3H FA 30.4% F OGS A g E, Ay FAA B gem?

Ans x 1. 359%,
<2 40%
v 3 30%
X 4 25%

Question ID : 5096476919
Status : Answered
Chosen Option : 1

Q7 X 39 W F F F AT T AR FI F| 2 km TS F G, 9E 9 {3 & AR 6 km TorT
F@ W, 97 T @ a7 759 10 km # g 77 T &1 X O W # AR g7 W R?

Ans - X114 km
v'2.10 km
<3 8 km
< 4 86 km

Question ID : 5096476903
Status : Answered
Chosen Option : 1
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Q8 & A 3 B # 3w K S s FAw 5 7 A3 5 SR EEA A 32 F
g # Tremn e ¥ gw T & 100 mL o & e 3 9w @ Mg 1 2 e & R

U & fandetr A1 F & e gem?
Ans  of 1. 20 mL

< 2 40 mL

<3 30 mL

/< 4 25 mL

Question ID : 5096476920
Status : Answered
Chosen Option : 3

Q.9

Ans

v 1. 0.7354
72 0.695
x'3.0.735
X4 0725

The value of 0.7 + 0.489 — 0.532 is equal to:

Question ID : 5096476912
Status : Answered
Chosen Option : 3

Q.10 Select the correct mirror image of the following word if the mirror is placed to the right of the word.

PDOSTRS6X

Ans X 1. Xe2ATgoad
< 2. X9S¥186Ad
/<3 X6SWI89dd
v & Zd2ATzedd

Question ID : 5096476895
Status : Answered
Chosen Option : 2

Q.11 Inaclass of 75 students, 44% are boys and the remaining are girls. The average marks of boys is 66 and that of girls is

72. What is the average marks of the whole class?

Ans X' 1. 70.24
< 2. 68.56
V'3 69.36
X 4 68.82

Question ID : 5096476918
Status : Answered
Chosen Option : 2

Q12 F=fafge & @ 30 e & 09 # & S0 TEwr ¥ & 38 geR wetad €, o v gmdr

TEAT Tge HE ¥ wated §

80:9::120: 7

Ans X112
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X210
VER L
X413

Question ID : 5096476897
Status : Answered
Chosen Option : 3

Q13 2500 775 & FHIUIST Fr For TEA H A TEARET F F FrEF @ @eme

Ans

X< 1. 60
v'2 360
23 90
# 4. 540

Question ID : 5096476913
Status : Answered
Chosen Option : 1

Q14 Select the option that will replace the question mark (?) in the following series.

Ans

121,129, 156, 220, ?
<1356
< 2 206
'3 345
< 4. 300

Question ID : 5096476901
Status : Answered
Chosen Option : 4

13

R
a9 o
WowW W -

:2b=3:2and3b:7c=5:7,thena:b:cisequalto:

Question ID : 5096476916
Status : Answered
Chosen Option : 4

Q.16 A sum of money becomes 130% of itself in 3 years at simple interest. What will be the interest on ¥ 16,000 for 3 years

Ans

compounded annually?

< 1T 5236
v 2 T 5206
X 3. T 5186
< 4 T 5138

Question ID : 5096476911
Status : Answered
Chosen Option : 2

Q17
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ABCDENFIwrmrrdsidiarda e ARBw g ama T %
BEFMCor g & Avig 85 &1 F, E ¥ a0 & g ¥ W 31 g1 E & % a0 & da7 77

Ans X 1 B
X2 F
v D
X4 A

Question ID : 5096476896
Status : Answered
Chosen Option : 1

Q18 i & & 387 39 s0aTH & 994 &1 & 59 By 7w =1 F ¥ § 99 F doul & g5y e
T F gl &

Ans

Question ID : 5096476894
Status : Answered
Chosen Option : 4

Q.19 mna class. Sanjay is ranked 11 from the top and 27% from the bottom. Can you tell how many students are there in the
class?

Ans X1_ 32
v 2 37
< 340
< 4 35

Question ID : 5096476907
Status : Answered
Chosen Option : 3

Q20 1ftoday is a Saturday, what day will it be after 37 days?
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Ans

< 1. Wednesday
7% 2. Sunday

/< 3. Friday

« 4 Monday

Question ID : 5096476906
Status : Answered
Chosen Option : 2

Q2 PafafEe Reed & ¥ 37 B #1709 & S o A F T 79 F AT
Ans
.8
52 %
v 3
4
Question ID : 5096476893
Status : Answered
Chosen Option : 4
Q.22 Gr=RfEe & ¥ 3@ 798 o8 TEO & el #1 A e §, B 695862 # vw U7 9 A4 &
Ans X115
v 213
<39
X4 11
Question ID : 5096476908
Status : Answered
Chosen Option : 3
Q.23 gelect the option that will replace the question mark (?) in the following series.
11,12, 13, 15,15, 18, 17, 7
Ans x 1. 18
V2 21
<320
X419
Question ID : 5096476902
Status : Answered
Chosen Option : 3
Q.24

Ans

mmaﬂmﬁﬁA,BzﬁTcaﬁrmzt:6:9?:34@%#?|@mmm§'¢,ﬁ7zdiﬁ
TF FA W F FFA g1 C R 3H FA # 50% feFar 7 A v F 0 T wwar §7

X 1114
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X 2 57
X 3 95
v 76

Question ID : 5096476922
Status : Answered
Chosen Option : 4

Q.25 uiw =¥, P, Q, R, S 3R T, v% Tem=wR 2aw F IR AR g Fr g WF 5§ S, R F &% T
AR TT B R PIHNQFAFT AL T, P F € 310 & gl 70 W &1 T & &% a0 FHia 327 §7

Ans X1 P
Vs
X3 R
X4 Q

Question ID : 5096476904
Status : Answered
Chosen Option : 4

Q26 Find the ODD one out:

Shirt, Kurta, Coat Dhoti
Ans X 1. Coat

v 2. Dhoti

< 3. Kurta

# 4. Shirt

Question ID : 5096476905
Status : Answered
Chosen Option : 2

Q.27 A person covers 100 km with a speed of 60 km/h and next 150 km with a speed of x km/h. If his average speed for

whole journey is 50 km/h, what is the value of x ?

Ans X 1. 42
< 2 43
X< 3 44
v 4 45

Question ID : 5096476921
Status : Answered
Chosen Option : 4

Q.28 'What is the value of x for which the 7-digit number 7583x 24 is divisible by 44?

Ans Jq_ 2
<23
X35
X4 7

Question ID : 5096476915
Status : Answered
Chosen Option : 3
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Q.29 Arrange the following words in the order in which they appear in an English dictionary.

Vertical Volcano Viola Veteran Vertebra
1 2 3 4 5

Ans 5 1.2.3,1,4,5
V251,432
X 3.4;1,2,5,3
X4 1.3,2,4.5

Question ID : 5096476899
Status : Answered
Chosen Option : 2

930 The unit digit in (33)*° + (52)2! — (27)*2 is equal to:
Ans J1_ 6

X2 7

X35

X4 4

Question ID : 5096476910
Status : Answered
Chosen Option : 2

Section : Teaching Aptitude

Q.1 According to NCERT guidelines for teaching social science, newspapers should be used in the classrooms to:

Ans x 1.

to provide pictures and graphics to make the news interesting
/< 2. to provide visuals on the topics learnt

« 3. to update on current history
4

to provide information that can help with their scientific research

Question ID : 5096476940
Status : Answered
Chosen Option : 3

Q2 How does science writing occur in a classroom?
Ans 1. Science talks
#< 2. Interaction between teacher and learners
v 3 Note book entries
/< 4. Small group discussions

Question ID : 5096476929
Status : Answered
Chosen Option : 2

Q.3 2008 # THEEHNE CART ST UL FrE FHE A0 AN @A F wggad & fm § 7 @i
T FEEE TEATEd 87

Ans X 1. et T RAfRST & SeTT @EE w9
v



https://aview.in/
https://aview.in/category/previous-papers/

THATT I WA F T A TSAETH ¥, FEU F Fihicdah THR & T A TMTEAF
&3

et caRT IUEAF F FATT AREYF F FT RO BIr F=Ar
4

T & o waeEe sl @ % a=a AiE &=

Question ID : 5096476936
Status : Answered
Chosen Option : 3

Q4 i frem AT 1986 F HWR, Feat 1 T F B F TAA WA F Aee FeA

Ans

quaTrﬁﬁ"ﬁm
v o

K3 frderar
X4 e

Question ID : 5096476926
Status : Answered
Chosen Option : 1

Q.5 Which of the following features makes distance education dynamic and exciting?

Ans

« 1. Educational technology

/< 2. Communication channels
7< 3. Contact classes
7< 4. Educational resources

Question ID : 5096476928
Status : Answered
Chosen Option : 2

** gfee Ree R # @ v B €

Ans

X OHTS F T W U ST F FTH
v 2 grates Afgart e TEe

X3 et 97 wrerRa e
x4.m§ﬁmﬁ‘%mﬁmﬁm

Question ID : 5096476937
Status : Answered
Chosen Option : 1

Q.7 Which of the following gives a more meaningful real life situation for teaching mathematics in a classroom?

Ans

/< 1. Copying the addition problem into the notebooks.
/< 2. Adding numbers on the board.

« 3 Daily attendance of students.

/< 4. Solving word problems given in the textbook.

f
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Question ID : 5096476931

Status : Answered

Chosen Option : 4

Q.8

Ans

arASw e Rer & o gew 2w |

X FeTT F FHEE T

W 2

WIATSF AEl W e Haa-#Aaa #<a & foe ot $r awar St wwe
X 3. qYaT gq ;e AT

&4
WA HE@l T == o & forw Rregondt $r awar wa s

Question ID : 5096476932

Status : Answered

Chosen Option : 2

Q.9

HEA IUHIUT T eawaar HR A F srerar, Femntian fr R deEt F g # awr
R & e W 3w AR e @

Ans x1_
3% TEHHAT ZaRT A o5y drar g 399 Ry a2
X 2 Orze frm O/ 9% T ST WA 7
53
HFEATA H HodFha Alsel &I fd AT T 39T a7 ar
v ¢ ATse R BT 9% W] ST HE ¢
Question ID : 5096476927
Status : Answered
Chosen Option : 3
W Arew, gEET R § e @ SeARd w4 &
o R o B gEefaeT gEer ik ggEE
X2
favetor iftere & s F AT [EHETUT TR TS F oA
XK o ReonfEat & qedieror Steet & AEw
K4
sffer-3fiea = faw, ¥R o Ty s e
Question ID : 5096476941
Status : Answered
Chosen Option : 1
W B & o FF T o AT T 2T B2
S T IS
X 2. 3cheC

v g
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< 4. 9mraTer

Question ID : 5096476935
Status : Answered
Chosen Option : 3

Q.12 * a P; e %_,7

Ans x1_
fordlr Bt & ver & 0% 3O\ o1 9 F T9 @NT &W U A HEHIAT
52
= gEWr foels avgst @ 5@ R Felia fRam oo SR R 3w weiet S por &, ai ¥ R
T awar &
53
Sdtehr 3T Tehdl & 3TUNET AT AT Hr g HT &THAT
o 4

F=aT 9T T AT, TF A= 7 3367 ToHRT & A= 7 THATT G ¢

Question ID : 5096476925
Status : Answered
Chosen Option : 4

Q13 Fam 6 ¥ 8 7% 3T T F v TAAEIRE (NCERT) gamr R feanfadalt & @R, aftes=ar
SIIEF TEO-HETS &g SOR # E S e &g Te 1 Siewed S &

M g AR R At
X 2. UTSTHA qOT FTA
X 5. shae T
X 4 FHFe 3T

Question ID : 5096476939
Status : Answered
Chosen Option : 1

Q14 gorerers R Red & AR, F61 # =3 G o RY o ¥ UF A6y R ¥
Ans 2 1. 8T

v 2 gfaraedt sraar

X o

X4.'\q1ﬁ:'|'

Question ID : 5096476923
Status : Answered
Chosen Option : 3

T afer R 3 oo F ¥ FiF v A A6 R

A g T Ty F YR W SEsE
X 2. AigeT e #7139
X 5. AT Fhaarat F A



https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019 https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//1258019106/1258019106S8D1002/15604900...

K o STl & A H GIAT H FHNSS A

Question ID : 5096476933
Status : Answered
Chosen Option : 1

Q16 Art in education encourages the following:
Ans 5 1. play way method

/< 2. social development
« 3. out of box thinking

/< 4. cosmetic addition

Question ID : 5096476942
Status : Answered
Chosen Option : 3

Q17 offar & e & ¥ FiF T FRF, 729 F TERHF [@HE F IROTH 4T §?
e X o e EwTge s @
v 2 5 GRERT Fr T TEIr 9% TgT A 8

53

S ACIHT ZANT GEOaagR AT 3UaT & HFHT fohaT FaT gl
r

9 O 3f3eEs # AEfae =eT g e g4 g

Question ID : 5096476924
Status : Answered
Chosen Option : 1

Q.18 According to research, what kind of language environments do educators use in a high-quality classroom?

Ans < 1. A variety of analytical questions and complex problems.

/< 2. A variety of abstract words and complex sentences.
/< 3. A variety of pictures and graphics.
W 4 A variety of experiments and practical work.

Question ID : 5096476938
Status : Answered
Chosen Option : 2

P e # @ Fi, O Hegew F AT A E?

K wea sfaifea 3@k ger w
52
IS GO ARG H AR 39 W R HE

X o FER T AR FROT AHSAT
v TF FET HR FROT HEA

[ Question ID : 5096476930 ]
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Status : Answered
Chosen Option : 3

1\‘4}'w

Q.20 Which one of the following is an indicator of the behavior displayed by a child facing sexual abuse?

Ans % 1. Eating disorder
/< 2. Excessive sleep
/< 3. Fights with friends
« 4 Body swelling

Question ID : 5096476934
Status : Answered
Chosen Option : 3

Section : Concerned Subject Knowledge

* 2 de wER R e gE A9

Ans o 1. ISR
X< 2 iR
v o e
X 4 FiesH

Question ID : 5096476956
Status : Answered
Chosen Option : 4

gz @ Fm H#Y 2

Ans J1- g8=

-

< 2. gt
< s gfcer
X 4 e 3UeereR

Question ID : 5096476954
Status : Answered
Chosen Option : 3

Q3 farm i afFF F TR AR HRT F WY TEA AR F SO FEAT O T A

Ans X 1. ZT
K2 5
5 TR
<4 aferer

Question ID : 5096476984
Status : Answered
Chosen Option : 1

* FEer gur F

Ew
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X 1. TE el I FAEERT @Rt v wiafear o
X 2 g WieEe AR Fifew == 1 vree
X 3. U TSI AT or

Vi W FUifeeE GUR & w9 F o A= Fer §

AVIEW

Question ID : 5096477001
Status : Answered
Chosen Option : 2

** Ry wrdr mewer el fw gy & 9
A XK. HeT-aEd

v 2 aEd

X 3. orgdy T

4. FrHYoT

Question ID : 5096476945
Status : Answered
Chosen Option : 3

0w W % e RER #1 A fhw o @ forar w32

Ans x1¥ﬂ_—~=g'_d'
X2 e
v 3
}(4.11(_\?-“?—1‘]‘

Question ID : 5096476964
Status : Answered
Chosen Option : 4

Q7 = Headd FT O oFT TIE TgS REe ganT Sy T aar ar?
As o TR we

2. ZEgdteer

X 5. T geaa

<+ A

Question ID : 5096476971
Status : Answered
Chosen Option : 1

¥ orsaly e B mEeeTe & B o
Ans x1_aaq-
X 2 AcEg
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AVIEW

X 4. T

V5 3rErdr
X 4 HTHAR
Question ID : 5096476948
Status : Answered
Chosen Option : 2
Q.9 :
Tl e 1 Taw §57 FIY FeAfaiad #iF @ g2
Ans x 1. m
X 2 miEmET
V' o FTar

Question ID : 5096476961
Status : Answered
Chosen Option : 3

W 2

N rme R e #T FT A 2
A X1 o R oee Tormer A9 ¥ EeT mswar

U A g - o 3wy g Afedt F d FrogfE
X 3t WF e - S UEEr O metuT B
X 4 TF FFFETT g - ormer T § sueF A

Question ID : 5096476997
Status : Answered
Chosen Option : 2

Ans ?(1- T[ﬁg
X 2. T
(3.@131’
<o e

AN et F T ITfEe TSSYE SAT ITOT 9geT SHelem FiT o7 977

Question ID : 5096476972
Status : Answered
Chosen Option : 2

Ans x1_ ﬁ%ﬂﬂT
< 2. TToT

X< s gfafa
W 4 JEr

Q12 frg wedels FF ANEAT FgT AT o, ST 3 UF U@ Ged § O aeT Ad o aear o

Question ID : 5096476967
Status : Answered
Chosen Option : 2
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Q13 A metal unknown to the Indus Valley civilisation was:
Ans X 1. Gold

v 2 Tron

X 3. Silver

/< 4. Copper

Question ID : 5096476944
Status : Answered
Chosen Option : 1

AV

O Sl S a1 FEeaae eEd 7E F J¢ W g our?
Ans X wEEe

X2 g

< 3 3Edr

W 4 HEATHR

Question ID : 5096476950
Status : Answered
Chosen Option : 4

G FaR wex TR e gEr fie fFr e ar

Ans x1wﬁﬂ.w
X 2 f@epe wnefr
v o TS g e

X 4 FETIEH ey

Question ID : 5096476970
Status : Answered
Chosen Option : 3

O s S & P @ T A R @ e 37
Ans «13_“31-,?

< 2 grErEt

< 3 grasEt

X4 &

Question ID : 5096476996
Status : Answered
Chosen Option : 2

Q.17

IFaT T $TOT F AR fHrua THT F GREr 7 gEe Far?
X1.34c—31rfﬂ1=rmm
X 2. 37T BTl

X5 ey

Ans

Ew
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Question ID : 5096476974
Status : Answered
Chosen Option : 2

Q18 Abul Fazl completed the Akbar Nama in:
Ans X 1. O years

W 2. 7 years

75 3. 10 years

/< 4. 8 years

Question ID : 5096476977
Status : Answered
Chosen Option : 1

Q19 YWhich was a measure of land in the Gupta period?
Ans 1. Karsha

< 2. Vimsopaka

X 3. Dharaka

v 4 Nivartana

Question ID : 5096476963
Status : Answered
Chosen Option : 1

O ST Y g & TeeT 9Rg ¥ 9 BT 3
Ans X1§T|T£§'\

X 2 STgTExemE

Vo s

X ¢ s

Question ID : 5096476973
Status : Answered
Chosen Option : 2

O orofefEE & ¥ FiF O mEeaue ged avh mEreas 27
Ans o 1 HEATHR

X 2 3
< 3 AT
X 4 AcEg

Question ID : 5096476952
Status : Answered
Chosen Option : 4

Q22 YWhich Mahajanapada was a confederation of 8 republican clans?
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Ans 1 Vajii
#< 2. Vatsa
/< 3. Magadha
#< 4 Malla

AVIEW

Question ID : 5096476953
Status : Answered
Chosen Option : 3

Ans

X 1. =TT, e, #el
X2 3 =

X 3 F93T 3gerT

v Yo, 3, S, A

Q2 Srafafea # ¥ 5w a9 & Rty 7 3w geg ¥foF & & @9y

Question ID : 5096476988
Status : Answered
Chosen Option : 3

O rETEE I T e |
Ans «1a3ﬂ;

< 2

X 3. STETET

X4 TS

Question ID : 5096476980
Status : Answered
Chosen Option : 3

K segateer & AweY
X 2 TAGES FTF F AFaY H
X 3 Feag-3o-3FaH Aftee H
v 4 g ETaTer H

9% oy B Arer F AT Fr UPS I FT Yer BHar AT 9

Question ID : 5096476981
Status : Answered
Chosen Option : 1

Q.26

ST H TgET Aol SAE Hie AqT?
MV it & sRE

X 2 HEHIET IeqHe

X3 yemrar s
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Question ID : 5096476985
Status : Answered
Chosen Option : 4

%7 1916 & Fieem dnr AR FAw F fw GEar frEa FEwT 9
e X o

XK 2 Glgay Fastt

v FFaer Bee

K4 Fierer TrEer

Question ID : 5096476993
Status : Answered
Chosen Option : 1

% T o & e AEeETE g O
Ans 110

X229

<38

X411

Question ID : 5096476947
Status : Answered
Chosen Option : 3

O e 3 TrE 3T W Fr wEAa B g
A 1. argiveTaT

v 2 R gh

X o SIS Tl

X 4 ToTEd

Question ID : 5096476976
Status : Answered
Chosen Option : 3

% aRdT AT FEE F g 7iEeH TUSgAa i 92
Ans X 1. eitera 37l

X 2 FEFAC Il

X 3. AT 3T FeH AT

v\ SEEEeT oaEsT

Question ID : 5096476994
Status : Answered
Chosen Option : 3
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Ans o 11921
< 21933
< 31917
# 41941

Question ID : 5096476943
Status : Answered
Chosen Option : 1

% 16 mEmE #r W ewfafla e sueey ¥?
Ans X FRTHRE

X 2w o

X 3 Bl 39TAve

v 3R T

Question ID : 5096476951
Status : Answered
Chosen Option : 4

3 oo Fer % N S & w9 A B I F Seow R W F?
Ans o e

< 2. aoTer

Voo

< 4. DAY

Question ID : 5096476962
Status : Answered
Chosen Option : 1

* orEgEe T
A X1 el SoTr et e el frsult @ Ay aar ¥
" )
v JfF 3eiig s, M Hi ToeEfas g
X 3 I TF qUTET ¥ S ariveTEE F AT
X 4 Sges woTelr

Question ID : 5096477000
Status : Answered
Chosen Option : 2

O Reafafla F ¥ fFad =aar YoeT @t gETT < e
Ans Xtéﬁﬂﬁﬁr
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v 2 3emEE e
X 3 TIIE UEh
X< 4 gorae

Question ID : 5096476969
Status : Answered
Chosen Option : 4

.36 N
O3 g Tod T ED) gaF[ea o1 Hgr Srar ar?
Ans o1 BHARICA

X 2 =TEETeT JUH

v 5 ST gl

r Pﬂaa EJI'-T-I

Question ID : 5096476960
Status : Answered
Chosen Option : 3

O AT § ofEe &F & 3F e 8 F =T 6" 2
e XK Et i, gt sk e
" )
&t difvan, aferonadt gt it 3T @ afReer s
X5 g HR e
X 4 g7 T AT

Question ID : 5096476998
Status : Answered
Chosen Option : 3

O3 SrereFT F I ST FT FT ATH S 3R0F F THFRNT A?
Ans x1_3:|-5;|-q-

v 2. gaTaAtEaar Ear
X . FaTEET

2 4. TehgeT

Question ID : 5096476959
Status : Answered
Chosen Option : 2

Q.39 gl 7 TEwYA - T 1900 Hr AT F i FEg F o9 F &9 F WG o Haieey dw
TEEUA UT| FHA F hod T°g MAS A2

Ans «1_
52

AVIEW
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X 4

Question ID : 5096477002
Status : Answered
Chosen Option : 2

44 1202 #F e RreaficeT = Faa A A
e 1 afeaER et

X 2. ST HT HAGHG

< 2 T

K« TgFEHAS M

Question ID : 5096476968
Status : Answered
Chosen Option : 2

O SRl & ¥ R 9 9 SR T8 FE 1 sRasT go T
Ate X 1. aiaTer ot T

v 2 ZIETTS AT

Ko glEeTer Fasit

X4 e AT

Question ID : 5096476992
Status : Answered
Chosen Option : 1

2 aimx g e F TEsh TeE felefEE e wlie ge O
Ans x,léa;iia_

X 2 AT TH AT TT

v e Tg aa

X4 &g AT dAT

Question ID : 5096476990
Status : Answered
Chosen Option : 2

W S= Fur F 9 Ty 9 B g & araa S
Ans x1?si?r

v
2< 3. puToT
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Question ID : 5096476958

Status : Answered
Chosen Option : 1

Q44 e ama, T S el AEEd, 1904 F BT fas qarr S B
Ans x,]. ma;r El;rq_

v 2 drEr FrETeET

X5 R =g O

X4 gataERr s

Question ID : 5096476995
Status : Answered
Chosen Option : 2

O geoar @ T W TUe gF F FREF @eg w5 gt 2
Ans o i gETO

X 2 e

X o sgetesr

v 4. FreiEeT

Question ID : 5096476946
Status : Answered
Chosen Option : 3

Y frw gl 7 oRa O F T e 9
K o faeEde sifeEr
X2 3T gg

< 3. FTET Bl
v o FHT g

Question ID : 5096476978
Status : Answered
Chosen Option : 3

W ke SEfRRT FiT @ aEg 99 96T 9
ans  f 1 drom

X 2 fEw

< 3. qEaErs

X 4 T

Question ID : 5096476975
Status : Answered
Chosen Option : 1
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Question ID : 5096476965
Status : Answered
Chosen Option : 1

Y aIT A AT g @IS FT FAT ATH UT?
Py -

X 2 ofasmaer

viEFEa

X 4 AFETET

Question ID : 5096476983
Status : Answered
Chosen Option : 1

Q50 g fyfeer qemges / TfaT 3 9gdT IR &R B F 1857 wH wsdw fAgiE a9
A X1 b

X 2 T

X 3 SRl

v 4 BT

Question ID : 5096476989
Status : Answered
Chosen Option : 1

% 233 I dnfer BET F ¥ BrE T @ TEfRT A7
Ans X1 graEdY

Xz.ﬁ;qq:g_ﬁ-

< 3 Foray

v ¢ o

Question ID : 5096476957
Status : Answered
Chosen Option : 3

52 o eraredy ST = # T T FA9E TH A0EAA qET T AT?

Ans ?(1- &

X 2. FHrgeT
VAR~
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Question ID : 5096476949
Status : Answered
Chosen Option : 4

% it g8 & FerARfEor Fat gea R
Ans X1 greTar

v 2 FAET

X 3. FOSEEg

X4 i

Question ID : 5096476955
Status : Answered
Chosen Option : 2

O eF o F AT A F B AF ¥ AT AGT A?
Ans X1 e

X2 g3

X5 Rrazar

v o 3rgfaeer

Question ID : 5096476966
Status : Answered
Chosen Option : 4

O srm T & Oy F g oF T ¥ geww & 9
Ans «1_ ﬂaﬁ

X 2. ARG =Y

< 3. UH AT JecA

X+ TR e

Question ID : 5096476991
Status : Answered
Chosen Option : 1

O ofdaeft 9RT 3T aTET WUH 3OS T AT
e o uTEE wrhE

X2 yew e

X 3 Fred gitehed

X 4 FAid Aredagrer

Question ID : 5096476982
Status : Answered
Chosen Option : 1
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X 2 gedE
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Question ID : 5096476979
Status : Answered
Chosen Option : 2

G e Sre ST FUAT T IRTEE 3 FT 9
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v 2 Fae I

X o srftarr

X 4 Fae &F

Question ID : 5096476987
Status : Answered
Chosen Option : 2

Q59 e X Freafola fre Fee BT 917 36 e & ORYE F Aqed Al
Ans X1 drefeeTH

X 2. g

v 5 FFeeH
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Question ID : 5096476999
Status : Answered
Chosen Option : 2
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Question ID : 5096476986
Status : Answered
Chosen Option : 1
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